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Note: (1) All questions are compulsory. (2) Flgures o Y
(1) (a) State whether the followlng -latomonlns)ﬂf'
1961 for assessment yoear 2015-1'01“(‘::"5 dividuale only. ./ 'jL
55€86. '
7 Rasident ASSESSED L o 31/08/2015 for 4,

’ 8 O
(N An assoclation of persons & N citizonship. | e
: us year

i) Residential status dopends onl s of
flll’) Income earned in India 1 not taxed In Ig;; 3;’;‘ the first prev r
(lv) If the business s commenced on 1 some from other SoUrces S 2
Assessment year 2015-16. — Yo 'dewasod employee is iﬂ_s not an income from saldry for iy,
f (v) Family pension recelvad by a witdow O l:] papErt ious year | po
: (vi) Bonus of earlier year rocelved during the 1
I year. (VRN A
(vil) Advance against salary I6 not a part of Gro'.;‘sl Fa(fxr;ble.
(vill) Dividend received from Indln;v ”COll:pB;;z is ully ‘<
ix) Gift recelved from mother Is fully xable. taxable
d zx)) Gratulty received by Govt. employee on reﬂrema{l‘tuijﬁyf‘;')':\" AR = ey (7)
: (b) Rewrite the sentences by selecting proper options nY his father is taxed in the :
' ()  Income earned by minor on the Investments madﬂn y
: ¢ —amior ¢ - hefshers e 00 perso salesman is Income from _——
() Commission on sales received In addition 10 salary by a salesm :
L * Business ¢ Salary ¢ Other Sourct!&/Ith olicy of the employee is ————
(1) Mediclaim premium paid by employer on the medical health p Y & perquisite
% . Taxable perqulsite . # Tax free perquisite B Gain will be ek
! (iv) If the residential pfopefty.held for 35 months Is sold, 1h6_|[9!‘r3rl:‘ al
: e Long Terms.« Short Term ¢ Medium extent 3 358
y (v) Gift of Rs. 51,000 recajfed ffom a frignd IS taxable to the @ e
fls. 510 e As. 50,000
. /\/Kcome {rom other eources {

A ¢ Rs 1,000 e P’ﬂf’ e

i (vl) Rent received from open plofof lan Phol felon .

L Income from House Property = ¢ Income from Busmﬁs;»

(vil) The standard deduction on a family pension of hFl‘iT' 1,50,000 willbe ___——
R e e 15'%W@ﬁr RAs. 90,000 he is entitied to a deduction under section 80

(vill) If an assessee pays life insurance p

C of .
¢ Rs. 90,000,

(ix) Mr. Anil is a person with a p

e Rs 50009 ¢ Rs 100000 ¢ NIl . :
Mr. Dinkar eamns Saving Bank Interest of Rs. 90,000 dy\g‘\me previcus year

(x)
a deduction under section 80 TTA of 2
y Rs. 10000 ¢ Ni/ ¢
on for the yeaf ended 31 .3.2015 (15)

£

er section 80 U of

Rs. 1,00,000 "~ ¢/C_ )il
hysical disability % He is entitled @ deduction und
2014-15. He is entitled 1o

* Rs. 90,000
(2 (a) Mr. Laxman Kumar gives you the following informati
Profit and Loss A/c for the year ended 31st March, 2015
Rs. Income Rs.
43,000 | By Gross Profit oY ) 2,50,000
22000 |* Rent from subleting of house N 10,000
2000 | Amount received from LIC for maturgp
4,000 Insurance Policy gyt (& 25,000
7,000 | =~ Dividend from Cooperative Bank (i~ 25,000
4,000 [ “ Interest on Saving Bank Account o> == g 13,000
59 11,000 |*  Profiton Sale of mport L 20,000
. 3.m mc@ %
11,000
o ®
5,000
2,29,000
: Total | 343,000 Totzi [ 343,000
Mr. Laxman Kumar paid Rs. 8,0@ towzz'rds College tuition fees for his children and invested Rs. 10,000 in term

deposit for 5 years with Bank of India:
ssment year 2015-16.

Compute total taxable income for
OR '
(20 (b) Mr. Rajan works as sales manager with M/s Esquire Traders Qe/gd ing i i
a)wam ol foaheguell q i es you the following information torg;
al —
ary per month — Rs. 11,000. <o S T R | M TR
A » W'r _3 P
..... =% ¢ ol A S i
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